— N T e
= ZZOmS
~B01.3| 308 m-
Rjég Wlndfqng‘ 5l0d
/ \ %
| 2,50m i~
,,,,,,, = L | B014] 78| |
= R1.35 Kijche
2.25° 30, 1.10 — 64 3)00
A 7o~ 7
2.13°
ab FFB
AT u()\‘
3
X > i
250m ]
B01.3 2415m2 T Q‘
R 1.31 Wohneh L o 20
\ 8 2 i b Oé/Pzr( 2
T B01.4 m? |
~ L R 1.34 Bad
47 Zi 2.77° @ P2’
o N
<
56,18 m?
W 1.05] Wohnung 12 | LU
777777 -
- / 2,50m
_ . g|dit 2
7T 22y / B013 11,53m
- | S Y
e | i % R1.33| Schlafraum
/ N 3
1 @ ”
i T i T ]
VKRD |
2,54m ol W
BO1.5 | 4,50 m? E < AN
R1.32|  Bakon N
\
| I | BRH=0,70m ab FFB
e S R S [ QUS— - ,ﬁ 77777 =
It I X XXX ;
VKRD VKRD |
Balkon ‘
|
Wohnung 72 |W 1.05

56,18 m?




